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yf3rfera =g R1eae oa9 w™ar—2016

L FETaE B—
Chlorincis:
(A) STEgH Toie /Oxidizing agent
(B) =ITa gole /Bleaching agent
(C) =@ /Disinfectant
(D) TFF 9 /ALl the above
L. (D) F&RA, 999 Uole, sl geie
g faxspme sfq e &
w9 H WA fim S G
TN Bl S TBI o1 el i
TE TEA SRS (SUE Teie)
¥ % TesiNe ¥ w5, aveg ol
AR TSR | FE e afied-
TRF &
SHA ST AETEE ® TR S8
&I % fera § R H S
gl
2KI + Cl, - 2KCl + I,
TR TeRE eI e
ARISIES FARES
FATNA 1 FaoTan o7 T aTo
HIFATRNE T[0T % HRUT A
Sty 7 fiveE = P B
TG & Fog T a3 Ry
o X Sl ST E
AT T + [0] ST
EUE R
FEA B FRHEETE B qui—
TR T SETT SEPRE & w9
T P o Y| TR B S
029 0.4 PPM Hisdl 9 U=l @)
G A T & Ty o S

2. SFRE A H AN E—

Danicl Cell consists of

(A) Zn 3T CuTeess & w7 #/7n and

Cu as eleclrodes

(B) Zn 8T Fe Serggrs & W0 7/Zn and

Fe as an clectrodes

(C) ¥n 3w Sigeage @ w9 A/ Znand

Sias an clectrode

(D) ¥n 3R Ag SoEge & BT A/ Zn

and Ag an a electrode

fasm

&ol YR T—-U-A

2. (A) St a, e =t aEifiE

TareRw 2| fead 9E U faegd
RS et &, ol v e yafda
ReiTa arfyfzar & woafda
RS Sl @ gyl |,
TRatle & = B Sthae 9 F
idetme (7nS0,) & e Sl
Torege s1Terey o1 SRl R E, F 5 b
Tedl 8, 3 Y $hUls Gl BE
F I BT B, W PURATHC
(Cus0,) o e # g1 vad 31
o9 f5F 3R FUR seaes B AR
SRT Wl AW, O foge axr
AT Bl & | 3wk 7 e &
B B G el &, WA BT
BE H F@HH 9ga] B

. TTE e BN U fis e e T o

a8 yRgda @ § SEr e |

The woik done on a body by an external
force contributes to a change in its

(A) Rafrs ST /Potential energy
(B) A St/ Total energy

(C) T SoivKinctic energy

(D) %o S/l leat enersy

. (C)91ed ¢ g1 e fUvs R oy e

TR SED! e ool & TRET B
ERER I

fordll T &1 I S 7 gaT
TREH 39 I 0% AR gef g0
Fd SR B EREN A & TF e
RIS Bl T Hed B

4. a7 AR A HEiERR B e s O

EL

The most electropositive element i the
periodic table is:

(A) @rEfron

(B <E/Copper

{C) RrA/Cacsinn

(D) TFA/Lithivm

4, (C) TFT o 1 o ferRIRT Sero qeA)

FEESEFE EIRE TR R R G |

(wdien fofdn : 2 weady, 2019)

* ygiy ww feR wvar ¥ o
TATY] § & a9 @ i
Toraet ety <t 2, 99 A=A @
T feregeh eramT I B siftep B
= | ared el A B o A sue D
T T $R A O e faege e
el & Rl ST Sl "ol 3
I EC i 1A e R
g-Ta=[dll AT wear © il
AT FH RN ¢ SR gerae
T e b gy wed gl

Tor T e, 7 g Fe, F1ET (eCu),
T (4Cy) 3 fadiem (L) H
AT (5,Cs) BT AR HAl TR
HH T qU geidT A A
T waifte & | gafery 78 waitie
o o o |

3. EggiE URHY] & disY Jiead § R, V sl

DA IR 2 N O T o i 2 el
i gerEE B g o =9 vl
¥ 9 BE- WA F9eA 0w o0 #
HrguTiie & ?

In the Bohr model ol the hydrogen alom,
let R, V und I represent the radius of the
orbit, the speed of the electron and the
total energy of the electron respectively.
Which of the following quantity is
proportional to the quantum number # 7

(A) VR B) RE
(C) BV (D) RIE

3. (A) dR HISH W SFER UIHI] & A gl

21 o) i e

e, n2h?
Y- T3
7 T Ztre’

TEEN, #= R, 81¥ @S 19T
% 10 (z = 1) o=t ban & form,

g ;
R= A me |7

R 22
TE 1 A FEUCH WY 6 |
B= Kn? ()

|1



6.

6.

7.

2|

oIl sl H gelda bl Bal

el
zer 11
' 2e,h)n
z
= vV, = 5
FS g TRAY & T 2 = 1
. _ &k ..
3T V= - )

FHIELOT (1) AR (1) BN B
0,

RxV=Kn?x % =K
VIR.= Kn
VR x n
8 V ST R o UG F9IICH
T 1 TR B B |

UF TEBET & waEe S Edaee
HUSAl A FHET BT G | 20 B AU
A & | W SR T ot 7 aw
T R B

The ratio of the number of tums in pri-
mary and secondary cotls of translormer
15 1 : 20. The ratio ol the calculate m the
primary and the secondary coils will be:

{A) 1:20 (B) 20:1
{C) 1:400 (131 400:1
i, N,
By —-
i ) ?.v Nf«
Kk

i, = WS GUSTH H 9E &I
i, = oI Fosel ¥ 95 O™
N, = Ty sgoeeh & Bl 51 wwar
N, — STeIfes Breetl 3 Wi 1 %
AR

N
N, 20
N 2

= N, T
1
L_20_5.]
i 1

3Aq: 1'1,:1'_?:20:1
Ufewd BES @ SeREe § g9 @
ufsear ¥ arafafaa &1

‘The process of converting Alleyl halides
to alcohols involve:

(A) TANIETS RN /Addition reaction
(B) Teeievern sifsRAn/Rearrangement

reaction

AGRAWAL =XAMCART

(C) vfreemy= ¥ dEar/Substitution re-
action

(D) TeeRgeaemEy SfEa/De-
hydrohalegenation reaction

L () TR TE wierRere SR e

@ NI Yfowd Ealgs @ Yobisiel
H gRas fEm < 2|
R-X+KOIl _4 ,R-OI+KX
Uleper UeplEla
LEIES)

. 3¢ 3R UEH Tdl B e Arerd

FH 0.6 3R 0.13WAm,>C) &1 Fraet
Hed o g § 5 9 ugT & R &
TS A EFEET B 7

The thermal conductivities ot brick and
pine wood are, respectively 0.6 and 0.13
WiAm,*C). What thickness of brick has
the same insulating ability at 5 cm of pine?

(A) 23cm (B) 4.6cm
{C) 30cm (D) Scm
. (A)

. 127°C UY U § 0 < 4 D1 e

o1g # e L Js Soer el Bl A
S TR AR A S S B R
SR B | SR A # 327°C OF Ser
ST &, T Soaa 9 (M) E—

A rectangular metal plate 8 cm x4 cm at
127°C emits E J/s. 11 both the length and
breadth arc halved and the temperature is
raised to 327°C, the rate of cmussion 1s
(Js):

27 N1
V- B o
10 B

. E 7 21
© 3 M) S

9. (B) MIATFR <€ 7 ZT%d = (8 x 4)

(31'].12

AMIATBR =i @ 99 = 127°C
e B IIEE &% = | G/ AFTS

T (Q) = A ot
] % o ]’
= P=Acl*
A1 !
= #-ax(1)
gl
1, =(127+273)K
=400 K
1, =(327+ 273K
=600 K

14.

10.

11.

11.

. gx4 ’400)”
E - 3 —_—
—_ (8 _ 4\ " \edo
= B [5x3
. 8% 4 24
E =
= szi(xm) U
- %—4)((%)
= ﬁfalxg
.81
= Py= 416
1L
= :Hqﬁ/ﬁm
e R @ e & edeag w9 e
A A ®, 98 2Rl B

A beam of transverse waves whose vibra-
lions oceur in all directions perpendicular
1o their direction ol motion 15 :

(A) gapaDolarised

(B) argdEa/Unpolarised

(C) wfed/Resolved

(D) faaffa/Dittracted

(B) gix werer # fagy 99y & =
BT ool & R & oved aa
W W fEEmel Wi wm oA A
TEY AT U B QEn W i B
F1 o7 wAaa gfaT g 7 dea
JGeT & T ddel U & TaEm 7
i T E
Agfaa g H YT q9es &
BT Faxul & {597 & eegad el
3 377 wrq feenstt 7 v w9 9
B

Fferfad & & waiies e amer &—

Among the following, the ence has highest

Mass 1s:

(4) Fed 40 g/40g of Te

(B) NTP W N, & 6 9=/6 moles of N,
al N1P

(C) TR 0.2 g/0.2 g of Silver

(D) FEF & 1023 TEIY108 atoms of

carbon

(B) e (A) S 3IPRT (Fe) 9 525
= 40T
e (B)H, NPT N, & 6 A
T FEFA = N, % Hiel &) 6]

N, & AR




=6 %28 =168 TH
(- Nyl SR = 2 = 14 = 28)
faweT () ¥,
el & 0.2 U F GIIA - =Gral
P AN % (Ag DT AR = 108)
YA

=02 %108 =21.6 79
fa®meg (D),
HET Cpp F AF 12 79 # A
TTAOLSAT BT T = 6.023 * 107
o 12 T YA FT FEAN

R B

= 6.023x 107
S | A U] B FeHHA

12

T 6.023x10%7

3 1023 U¥ URAT] B GIHA
12 x 102

- G03xi02  199UH
& waifte g, N1 9 N,
& 6 Hiel & E

12. TF 2.5 ke @18 &1 98 & A 125 ke

tTRyfAfEE iR % e @ T iR
B UH TEF R S |9 e
TR R < e Teel ST ol WA BT
w7

A 2.5 ke iron bell has the same diameter as
a 1.25 kg aluminivn ball. The balls are
dropped at the same tme [rom a chill
Just betore they reach the ground, they
have same:

(A) @ Macceleration

B) T/ momenium

(C) T Hol/kinetic energy

(D) Refes So/Potential eneray

12, (A) T ST aRgall F p S 3 Bl

T E

fey @ ey e 9,
2=u-+2g‘h

qRE H g = ()

3T w2 = 2gh

v—\/ﬂ

9 [ wfiern A s dar R &
9] & SHIF U Ygan Bl 97 9%
61 Sy U AR wvar B

T 2.5 kg TG & 718 A UgATIT
1 IE P UF © AR I TR T,
fireT ¥ S el T @ReT T
|l

13. 9 IIgE AFRRTT 97 W @ TR

T qRer—

The suitable reaclion thal will convert

benzene to toluenc 1s:

(A) Uesld €9T1/Aldol condensalion

(1) TEgorE iR AT/ lydre-
genation and addition

{C) Theat Foe areagel@</Fricdel
Cratts alkylation

{1y Trsel FTe TaATZel Ry Mga 99
arqaa T ¥hriedel Cratis acyla-
tion tollowed by reduction

13. (C) ¥ea FIC TeFse o & g

YA BT TG W qGel I ¢
HOH @I Ufeee SelgE @ e
TORF (Fod Tegiitam TerEs)
H | TH B X UfREe dwi
EECi

R> —) I IIx
* TAICH O
CIT,

¥ AReTeiNge oasT
14. Sfeaas iR wREEe #us X 39

TR 1 GeF ol 3ihl e 8 &V
The temperature which has same mimeri-
cal value on Celsius and I'ahrenheit scale
15

(A) 273 (B) —40
) 273 (D) 40
Fo32
4. () T = =
TR C =
c_C-3
59
9C = 5 — 160
9C — 5C =— 160
4C =160
L0
c=—0_ g0

arerid —40 UX HiewIH W%
ENAEISE Th AN 31 el YT
Bl

15. Tf& x &% 3 F=WE & TS o e |

SITET TN &R S n GOTHN 6l TS
SR Y,

15.

16.

16.

If the nuclei of masses x and v fused to-
gether W lorm 4 nucleus ol mass m, then

(AYy x+y -m By x+y>m

(C) x+y<m (Dym+x=y

(D) < g qen G ey fE
Tftes & Fei @ &, 7 5o
P FE AN il § dEe ol 8,
fe M%7 SREd® S
ST T UG & Fel GeEA 9
FE B B Tl & | A @ G
W g 1 B GUA AR b &
aT: A x SR v gEAT B i
F AT m FEE T ANE
AT AW T §6 AHEG T TRTAE
X9 p b el A H BH A
HTxtp>m

T el 3T SFer Jel sH e

L

Teclanche cell and Damiel cell are example

ol:

(A) ST gk el § VBoth dry eell

(D) |FT e F E VDoth wel cell

(C) ok Hel, et Hel/Dry cell, wet cell

(D) et ¥, geds Fel/Wel cell, Dry cell

(C) SiereTsl e g% 9 @ | ¥ W
S % | 39 A e, i,
oI anfE & R H ST ol el
139 9 ¥ 9 1 U U 2l ©
S UHIE W B Rl & AT BlEA
(IeTEE) B AR AR | g
N SEairdge a2 wEd o
TerdT YEd) B, Al $eTe &l & dnedl!
T gelFgrEl & S @ = NH,Cl
T 7nCl, & 79 9T F W9 A B
/n— At 2e (TR )
MO, + NLL, + ¢ — MnO(OIT) +

NH, (#2E W)

arfifan 71 Se= sMfART Zn2t &
W Hegel SR &1 MnO, fagas
N B P E
ferrer I TRt A @SSR B
SHE YA GG Enera | ferar Sien
159 e & AT R S
Tl & W # UHTS HIOT & Tl Bl
T &1 41 8 § 96N B & Fod
H e I9Eed & W H 11,80, ¥
T | g9 Hel &l emt 1.08 diee Bl
¥l
/N /nd 420 (e T
/02 + 80,77 = /n 80,
AN +2e — 1,  (TE W)}

Y | 3




17. SIeeA & SRR, T (47 TTY o & TRA]
According 1o Dallon, aloms ol a given
clement are:

(A) W39 STEE, AFN SN STPRT &
I Videntical mags, size and shape.

(B) WG9 S, ST A% i amepre
W R ¥ VIdentical mass, size and
different shape.

(C) \gel g=H, iy {31 snmae &f
aMeEfe & B E VIdentical mass but
different size and shape.

(1)) Wqe gl 8l s uig fi
S & 91 © Vldentical size and
shape but dilTerent mass.

17. (A) €lee & uxHM] fHgid &
HGUR—T T B FH A
S, dfieEfa sl s § e
BRI 5, e P31 el & IR
qeEdE | - 29§l

18, sffedfiar e sufan &—

Oxygenmolecule exhibits:

(A) FRTgaaa/Diamagnetism

(B) sIggeede/Paramagnetism

) ﬁ%ﬁﬂiﬁ/l’*en‘onmgnetimn

(1) UfTelEgadrasAntiterromagnetism

18. (B) T waTel {Sies U], URHAY] FHepa
sl # ayfed gelad sufkerd
B ¥, STfgad garel wEen # |
Ay 2R &, aggESE O A
il I O 3 R L i e e A
a1 g 4 W SR B §
SR g &7 F &l o TR g
ST I T B A 5 |
0, 3], geAere il bl et Al = 16
0, — 615, 6"15%, 025, 0*25%, ©
2p2,
| 2mA2.12pz2|. |w*2pyt 1 2pat|
smpftee gerel 6 e = 02
& SffairarT 810 STggadd & 0
T %
19. 4 A SR BIR—y Afaer s, o A+ B
= |A = B| =T FF= H E, S S d
T BT B—

[fA and B are non-zero vectors ehich obey
the relation | A+ B | = A — B| then the
angle between them is:

(A) 0° (B) 60°
(C) 90° (D) 120°
19. (C) YSIER,
A+ B|= A B

4 | AGRAWAL =XAMCART

|A+DBP=]A-DP
= A2+ 1¥+2ABcos0=A2+]32
—2ABcos o
cos=0"
cos 0= cos 90"
ad: 0= 90¢
& A X 3@ &g w B gor
BT |
20, Fefefed 9§ 9 98 o degaed St

T

Among Lhe following one which exhibils

[erromagnelism 1s:

(A) Al (B) Na

{C) Zn (D) Co

20. (D) ¥ 9 TE1Y % Tl g &

T WY 1¥e w9 I S
B & Jen g A & o T
q el JEET & T TS E
TR g Tare SR &, Ud g
T T WS TR wed © | R
faeet 9 Co (FrsTee) agsrbe
LI

21, W TFE F SAE1 @ Ree Seed B

el yere A ¥s & 8 k-

An ideal material for making handle of

cooking vessels must have:

(A) T AT &P ST BIE ATeTe/
Larpge heat capacity and small con-
ductivity

(B) B BT A1 SN I Al
Small heat capacity and large con-
ductivity

(C) I e ST SN e areiddr
Small heatl capacity and small con-
ductivity

(1) 521 & a9al dR 981 Al
Large heat capacity and large con-
ductivity

21. (A) 991 S AT AR BIE Aol
YT T H T = 9 &
g b Esel Qi H fBar wdr
&, e e @ aE = 9 3w
T ST SR o W |
22. Fferfiad 4 9 diF—ar waifte spela
w7
Which ol the lollowing 13 most acidic ?
(A) R THifee eFe/Monachloro

acetic acid

(B) SrEFar Wifew sFa/Dichloro

acctic acid

RCIL, C O

(C) TRFARI WfeE s/ Trichloro
acetic acid
(D) TIEE sTFe/Acetic acid
22. (C) 3F=TR Yaetdr —COOH |98 & |12
IS R-9vE & vl U YR &l
I
0 0
Il |

I1—;—>R-CH-C-0-H

O

afF G -1 9¥E yefia e & ar
THD BRI TR ST B F
TR HOTA] & e &9
gl & wh & @21 RCOO & O-
YA 1 HUIEY B B AR R,
ToreT# g i 9g weT & | e

ST T 71 g B &
1 g WS R qwRl R 6
T gg D A, Al P U
gl &l
R
Cl—Cl—C—O—Ifa %‘I—C—O—IT’S
Cl Cl
SRRl UHleh SRRy Wifed
ar 3
3-luwE 2 yuE
0 Q

[T |
Cl-CH-C-0-H" IL-C-0-11

AREART THfeE THifed el
e DlE L T e
—1 9
a9 goifas v IrsEFIst

THIe® I B
23, HIfsTs o 9 ®ed 2.3 eV E 1 2000 A
% fafepor & WehIfeTe Hee o Sefere el
goidg = B FHUEHTH RS Hell e
BT?

The work function of sedium is 2.3 eV.

‘What will be the maximum kinetic energy
ol the pholoelectrons emitled by the
surface exposed to the radiation of
2000 A?

(A) 2.3eV
(C) 6.2eV
23. (B) €1 W & 5,
Wl TS B ST TR
ol

@) 3.9V
D) 39V

. he
J:tkf 3 W



24,

24.

25.

W eTg o BT et

HEATHIY,
W=23eV=23x18x 1()719;1‘3
L =2000A = 2000 = 10 1°Hex
=2 % 1077 HT,

b 2x10°

—23x%x16x1071?

0.6%3

Il 10 3% 108 x 107 -

E?._
23 % 1.6 x 10712
=33=3=10Mx10%_23x
1.6 % 10712
=99 x 10717 — 368 x 10719
=(9.9-368)x 10 1?
=622 = 10710 et

6.22x 107

“Toxio® &Y

.22
- 1' =3.8875eV

~3.9eV

T Teh TR URA] ¥ T AR T
&, T IRA] SHR—
When a cation is formed from a neutral
atom, the atomic size:

(A) WA Y& &/Remains same

(B) ¥edl SDecreases

(C) TgaT ¥lncreases

(D) =1 <7 g&a1 & A7 wear ¥Fither in-
creascs or decreascs

(B) o9 Ueh SGIRIIA =AY | U g
T &, T IAIY] I STHR TEd &
I UF Feldns AN gaT
MUY YA TIHBE e 98
SisIER Enpip p i e Eap
i 61 AN <1fes 5o W STt
B ¥ ST e W e v a
S F |

. FrefEfeg 9 #@a—a smifyd

FHEITA G 87
Which of the following will exhibil geo-
metric isomerism 7
(A) FEEI/Slyrene
(B) R a=1/Cinnamic acid

) Aftress 37t/ actic acid
(D) S FYALL of the above
(B) surfadis waE@aadr ) C= (.
W=N-1Lda-N-N=N-%
faRaa dEaaiea,

ELBEEIE

11 H

GE uﬁﬁiﬁm)

26,

AR, Vel T Ted 3
IR

faarer yad el uzHEl A B
BT U= G HHA qHE Sulerd
B TF ST a1 gl
SRR

Semert N A
a”” ~Na b Na
(T SAaEaan e S )
b\ C/a

b/ Na

(AT HATaIT T E )

‘1\ /B b\
c=cC
b b

(AT
HREIIT &)
a

C=C

a

C/C=C<a
{wunfy

T T B )
g N
c/c_ b d/C
(o R B 1)
= TR g 8 uslig
T
T = SR e Te e
Exslf
TR,

/a
b

=C

o CO0H

S O

(Eﬁﬁ‘iﬁ Eﬁhﬂ)

COOQIT
H—|C—OII
CH;
e 3T (Fa) Tarea

T, Ffeeh e WIS
AT TaEd =)

g Refre sre wTEST Qe
yaidfa wwm i

W ATYS ATl I AT9H A9 H, 9T
fBrre &y qaesie HHe 39°W S
239°W ¥ | 39°C dYH= UX S WYE 7
AT AT E—

On a new scale of lemperalure called W

scale the [reeving and boiling points of

watcr arc 39°W and 239°W rcspectively.

26.

27.

27.

28.

28.

What will be the temperature on the new

scale corresponding o a lemperalure of

39°CY

{A) 200°W (D) 139°W

(C) T8°W (D) 117°W

(D) L17°W a1 30°C 9= 9% 7
A F SR AT 117°W B

e sfffea ¢ afd § Sdve wadr
=

At the end of the chemical reaction, the
catalyst remains;

(A) T F SuREes ot e
gRefdda/Unchanged in quantity but
changed in composition

(B) A1 &R\ A aiata/Un-
changed in quantity and composi-
lion

(Cy A== A Suialdd ueey A
Refia/Unchunged in composition
but changed in quantity

(D) ¥ &R wwaHr A gRafia/Changed
m quanlily and composition

(B) 9 garef 5 wamtes arfiidar

T I P gQ o9 &, Wy, W@
il & s # I[EFE w0 4
AT & ¥, SORE Peel &
Sdliser e aifdfaar d |m
gy oidl &, yvey FHHa & e
W THB! FA ATA] T THBI
wHEAE Haes 98 vEd S|
frfofea # 9 3F freafetas

BT BT RIS (el &g & e

SR ER ISR

Which of the tollowing will not react with

hvdroxyl iens by nucleophilic attack ?

{A) SEUfIE $2R/Yiethyl Hther

(B Uf¥E tice/Ethy] acetate

(C) URTEAES/Acetamide

(D) TREAEgEa/Acetonitrile

(A) T T T areg v Safver
2 AIfiTEEE Besieel & |
arfifran <=t &, fod o i &
W el SIgUide $o & g
E, fored ¥ vy Agw s @
¥l

o I
ClL—0-Cill: CIL - C - OCIIL

SEITE AV i3 e
i
ClL-C=H CH;—C—CH,

s gsel SIS
UgY | 5



T STEUEE SR U v A1 &
ST = eberaiibferes sfrsEHul gRT OH-
{ergilda s & e arf¥iea
TE F

29, up i T R arg @ wle 1R YR

3117 Tl Fes U=l & 1S 1400 K e
Y TS B N ol S | oA o £
Ja—

A polished metal plate has rough and black

spot. It is heated to 1400 K and brought
immediately in dark room . Then :

(A) T8 & wic ¥ | T fowErg 3/
The spol will appear darker than the
plate

(B) €& GAH gHdaR s 2 The
spot will appear cqually bright

(C) TTA-T0 R 9= = ¥ 4w
e AR THET FEE S The

spot will appear darker and brighter
than the plate periodically

(TY) o611 Wig ¥ FHebIa s S9N/ The
spol will appear brighter than the
plate

29. (D) 91 1 =T GId § AR T W

el ] TG B | &9 ©iT BT
P R FE B | FTE 98 T ¥
T A SR R 9ot W AR
I AU B O B ST S
MY T TH &1 OX 98 T 5Ha
FIT AT & A EToT Setotd e el
¥ ifeTer T o1y A wie e
faferor soafsfa =0 §1 w99
fafeeor % W w99 aesd B
¥ | pitorerT w9 Tt < s
HI oidl ¥, Id: 98 <fug ag
(1400K) &% T 2 T 9 @I
ST W Y Haho! ¥ | PHivorerT @
fafreor o o6 T AW we wiE
D ©F H THEEI feEE v

30, - dNiA i ensire il T8

B?

Which 1s not a characteristic reaction of
benzene ?

(A) IrTeTHR/Addition

(B) SEITRIplaAs e/
Electrophilic substitution

(¢ TP/ Tlimination

{1y fereriitslere uleemgs/

Nucleophilic substitution

30, (C) Frepmre soim @ eerfores atfdfsar

T

AGRAWAL =XAMCART

31. T B Y-

31.

32,

32.

33.

Choose the cotrect statement:

(A} o fEvol & s wifde 9ed
BRT ¥ Vot tavs have high ionization
power

(B) FFEeeTe Wag YEOEHE we BV

lsotopes arc always radioactive
(C) B forol wag o ST gEdl
i e @t uga ST #V P rays

are detlected towards cathode when
the electric (eld 1s applied.

(D) T oot e 1 & VGamma
raysarenegalively charzed parlicles.

(A) o-TomT = B e e B
TP M o P-fETl | 100
AT AT 4Tt F 10,000 7 &
¥ a1 o R T steriR=oT St
S=a N B
AT Hag Yedeided & 2Ry
B ERglad & d9 waesrfisl
ifes ¢ HY, SgafRaw (1) e
TR (HY) A Feer aefes &
Yeifies wAE ¥
[-FeRe0i O Fomeer BAT R, & A
R e A SR g3 T B
+-fFRu SERIA B E, R g9
Y g IART T B |

Belle A il siffgpaeia aaw -

‘The more reactive member in halogen is:

(A) FEA/Chlorine

(B} FERME/Fluorine

(C) IRE/lodine

(1) S¥F/Bromine

(B) enmad 9RO ¥ st vwe o
RO T H—
T Ay Sfae sifHiearer
T FARA T TN 9=
IS st @ R
L=l &= &1 e faes o,
T H T geE A,
S veligel & 9od geladiq
T, NS TGSl @l 9ed
AT Sl

T AfeF A AT PR H A GE@
Y %Y Y YA &, g8 <91 R F &R
F 30° PV UX WM dlel gdls el @l
AR ¥ | 110 km/h 397 | =GR g7 98 99
BATE TR & W A Yedl & 12N e
I B—

ECERSEE]
C

A woman in a car on a level road sees an
airplane travelling in the same direction
that is climbing at an angle of 30° ahove
the horzontal. By driving at 110 km/h
she is able to stay directly below the air-
plane. The airplane's velocily 1s:

(A) 127 km/h (B) 110 km/h

(C) 220 km/h (D) 144 km/h

33. (A) T2 Al =R e & WY AN

wad) &, gl dicrl & b gard wart
T ST TR S B 5
& HHF

V= 110 feeHl feer
TER ¥ S

Q=30

6 = 300 AA
V=110 fesir :

AT,
TS e & 9 = Y Re/ee
a9, AABCH,

w50~ SR AD
cos0= =2 = 36
cos30°7$
B 10
2 v
110 x 2
V- N
220
T 1.732
~ 127 16T Jeer

T 1

Sulphur exhibit variable valency due (o

(A) 9391 alrpR/Bigger size

(B) = fégd oA/ High clectrone-
aativity

(C) Hebs 7 ¢ ®ar o sufafd/Presence
ol d orbilal in sulphur

(D) Jea ME-Ey SaiHigh ioniza-
tion encroy



34, (C) 9ty 8 - 1s2 252 5p8 352 spt

Wy TS AT & =Tl d-SUhmE
B %, RN s TE puTeE @
1 ! 1 AP A 1ot e M s I [ S -
VR B R E SR 39 T "ehs
+4 9 +6 T DI ATFEHeI ST
w=iE B E

35, U TR F WEHF FrE 7 300

36.

36.

T ¥ v fadhae gueed § 75 e ¥
g fadiaes gueer ¥ 20 A g 2 %,
IR U H H Bi—

A transtormer has 300 turns in its primary
coil and 75 tung in its secondary coil.
‘When the current 1 the sceendary coil 15
20A, the currenl in the primary coil 1

(A) 5A {B) 25 A
(C) BOA {17) 6.4 kA
. (A) SEHIAY A,
i, N,
LN,
ﬂ "
Np =300 ®¥, N, = 75 %
Ls=20A.1 =7
L _ 75
20 300
Tix20
T

T WAMF ool A SA B OERT
TE & T

frfafea 5 ¥ 59 Cll; — X 99 9

Feaed gaaer & 7 Which of the following

CII;-X bond has the highest polaity 7

(A) C-DBr () C-I'

(C) C-Cl M) C-T

(C) T T ST TS 7 A
FONSTEA T BT AT Bar & |
A e (C) B U it
foe@ womeEs B E
o C — X $ A golag Al #l
WERM | W §9 g9 § (W6 X-
T ), 91 A= W Serdg e
o SMEr Bellae B A WF eiTe
&, Pres aitoreaey defe 9%
aNf¥Ter W ¥ FHSB MY T
B TR ATRIR ST+ TS AR
T Il B

+6 8

C—X

e gengs H C — X a7 T gaurr
F 7 A B—

Cll; = Cl> Cll; =1 > Clls = Br > Cll; - 1

Hfmad gedr

LT e
T C-Cl a7 = IegaH gaaT &

37, < & A6 § U SoeS £

‘The negative clectrode in lead acid
battery 1s—

{(A) E/ron (D) A Lead
{C) diaySilver (D) wIE/Carbon

37. (B) HRT 37 ¥4 H oS TaTerd e

Fed £ % v fadmw i %
TSI THAFT 1 & qgar [Audg
Toem ¥ T w1 vaE g 39 g
ameforg feT 97 F%aT B UE
| el N geaed W uge
B A E A TS ol Bl e
T T T HS oIS TR-FFET
(PbO,) & %3 g¢ s 1 firs e 31
T 38% 11,80, 1 e fHgd
suEey &l SR wdl &

Pb(s) + PbOs(s) + 2H,80.(aq)

= 2PbSO, () + 2H0(0)

arg: ¥ = et T W
srfifpar Sonfia & o & e
PhSO,(s) TITS U9 Shelis T¢ 35
Pb U9 PbO, § 931 W 1

38. TP prv A ATl TR W el =aR YT

38.

39,

Il B AN 9TE Seedl B SR
F el F W my H TEad B

A mctal ball with thec momentum my
strikes a wall and bounces back. The
change in the ball's momentum is ideally

(AY O (B mv

(C)y 2mv (1)) —2myv

{C) my FAT & el SN H eHmday
T —mv AT A A9 FeE £
I I H IRTA = e — ()

= mv + my

Which of the following substrates will give
Iree radicals under appropriale condi-
tions 7

{A) TepEe/Alcohols

(B) Ulewel Befige/Alkyl Halides
{C) Tedhi=d/Alkenes

(D) <= w/AL of the above

39, (D) vemieeT R — Ol Ufeerer Tommgs K

- X, Yt SC=CZ a g
TRt § a9 Tee @ A
EZcRY

o aN ]
Veeh[+ gse] I3 Ss

i
(CALC C Clly) P Sufserfa 4
T e Sl I S B |

40. 8 kg G dlel Ve Yoy ifFae sl a1

40.

41.

41.

42.

10 KW At fgfem w9 ¥ ve &= ¢

e Oh IR 6 50% et 1 9w

T T R w & o o o &

TR E W25 TE T e T

B AT A9HE Bl ghg @ g eee |

(vegfatras & fafirse 9@ = 091

Jg—IL’Jcl)

A 10W dnlling machine 15 used o drill a

bore i a small aluminium block of mass 8

kg. Iind the rise m temperature of the

block mm 2.5 minutes, assunung >0%6 power

1sused up in the heating machine itself or

lost to the surrounding.

(A) 103°C (B 150°C

(C) 206°C (1) 155°C

(A) TgHR F gfg 103%C &, &1 ey
(A T

T I F TIHE 150°C FRIT iI B
g RUE oA § uRumeeed ghyg
T
An objecl's lemperalure 15 raised by
150°C. The resulling increase m 1ls abso-
lule lemperature 15:
(Ay 32K (B) 150 K
(C) ISDK {(D)373K
(B) & S & 6 awg & 99EE 00
150° T 5T T ¥l
O°CAMHA = 273K
130°C =(150+273)=423 K
A F 9fg = (423 - 273K
= 150K
e T A Yedbiser S1H H uged
RS B

‘The catalyst used n the manutacture of
methyl alcohol from water gas is:

{A) ZnO + MnQ,; (B) Ci:05 + MO
(C)y ZnO + Cry0y (D) CaO + Cr0;y

42, (C) 300 —400°C T 3= 200 - 300 atm

6 Y, /00,0, SUXE 6
Sueerfer A e I (CO + IL)
TSI 10T X TX A Uedhiaa

ERGIE

Y | 7



43.

43.

44.

44.

8 |

300 —400°C §n'Cr,0),

CO+2H, 200 — 300 alm
CH,OH
et =7 Aferer Yetee

s i & go ¥

[onic compounds dissolve in:

(A) ga™T f[deTmes/Polar solvents

(B) v-gi fdetrie/Non-polar solvents

{0y ELIEES ﬁ?ffﬂ’cE/Organic solvents

(D) ¥e—eim/Non aqueous

(A aiafre dife gdia ferge
S—H,0, HF, HC1 5efg 4 e
AT 8, Sl g faenge VEIdH,
ol S, Belel A | affder
B &

h¥ERY T & TaY @ 1 W U e @

Vgl Wil &1 2 o ) ugen @ ferg

| ¥Fs F TG T 6| TR HES T

™ TE e o @ ?

A body is released from the top of the

tower of height # meter. [t takes | sec-

onds to reach the ground. Where was the

body at time '1/2 scconds Y

(A) SHME ¥ h/2m Tat A/2m from the
around

(B) W9 ¥ A/4m T/ at f/4m from the
ground

(C) ST 34/4m T/at 3h/4m from the
ground

(D) T & g & g ue fsy
depends upon the mass and volume
ol the body

(B) favg &1 =ftvas 397 U =0

1 .5 .
31 H1 -3 g]l" (1)
27 3 gl (i)
FHIET (D H (i) 9 =9 I

1 s

y &l

R T

: Zg 3

| =

AGRAWAL =XAMCART

1
AT (z)z
| 2)
_4

1

/
hz=1f|a?

31: five Jovs 999 W THE 9

gﬁﬁawml

45, p-p IR SMTS @ AWl H 9w ST

% Fog {9 U¥ GRSl W gedT § | 9o
AT dieedl & HF @ SR B—

In the case of p-» junction, diode at high

value ol Teverse bias, the currents rises

sharply. 'The value of reversce voltage 18

known as:

(A) < 7T dlecdl/Cul n vollage

(B) 9%—=lae dleeal/Dreak-down
vollage

(C) e &F dreeaCul ofl voltage

(D) =@ deedlInverse voltage

45, (B) 99 WY S & p-oRy e &=

Tl & ®01 Y & q97 a-TEy
foreeet B ud R & e B, 1
wfe wp S FEer 21 39
YBR p-n €Y SRl d dgdEd®
e aRdT BT H FRO Sed
B GRIRICEE KU RN RECER e
Tees ToTH IR 5% 4T Thud 98
\_!ﬂﬁ %—, “i\ﬂm dlecdl T JdhSI3H
qreed el & | TR Ay SEE
@GR YA @ oy uikiR st
M & BN SELT T4 Fl AeE 93
ST B

46, FrfeTRes e @1 IUPAC ATM &—

IUPAC name of the following compounds

Is:

OCH;

(A) 1-3oTeAI—2 ATZCEETAIsFa/1-

elhoxy -2- nilrocvelohexane

(B) 2-S7aiT—1 TS Faedy-1/2-
ethoxy -1- nitrocyclohexane

(C) l-ZaTN-2 TReNETARE/L-

ethoxy -2- nitrocyelohexane

(D) 2-39Tddl -1 A3gbIsdeafad-1/2-

ethoxy -1- nitrocvelohexane

46. (A) TR I A SR WE (—O0—)

AFCTE ¥ T &
wWifes diffe

NO,

1UPAC 9T | -ZefferiT—2-

ARG ae e

47, ©F fUs 4 S 9 61°C ¥ 39°C TF &7

BT R 6 e 7 31°C {1 49°C 2R &,
N I B B AGHA F—

A hody cools [rom 01°C o 59°C in 4
munules, and [fom 31°C (o 49°C 1n 6 mn-
utes, then temperalure of the room 1s:
{A) 30°C (B) 25°C

(Cy 35°C (D) 20°C

47. (A) e & diderd Fyd @ siga,

fivs § o @ #1 5%, fivs Fen

AT & FET AR & FATGERT
ERIEY
1‘—1,x('1‘,+1,_lj

H 2 "

T -1, T+
31T lr 2 7K(12 '—IUJ
wE W1, 1, - fors % a9, 1,
— UNEeT T7 AT /A, -

WRAAIR,
weell o, |
61— 59 39401
2 f240s)

(T, = 61°C, T, = 59°C 92T
(=41

2 120
= 3 =K[T_1u]
1 _
= 5 = K601y (i)
CGRNRR]
31—49 51+49
= - K[—z L,

(T, = 51C, 1, =49-C, 1= 6 foie



T KI0- T, i)
T () (1) T I E R,

1
2 K(BU-T)
I = XEo-1)
S

= lZU—ZlU: 150 —3'1'0
= 150-120=—2T,+3T,
=30°=T,
ad L, = 30K
ST TRl AT 9l B argn 30°C
2|

48, TFH TS T The & Uled o 9= =M

3T FFT E T o @ Rm ae W
TR W qHT BNl T T %, T
% g uled | wel ave fbe & WR ole
20°C IR 2R B Fao- @b 3737 99T
¥, T oY o7 fher &= T e o1 2R
forard 98 @@ dvg fbe 38 7 gwG @
Rad ™ &1 TS E 12 % 107550V
A wooden wagon wheel has an oulside
diameter of 3730 mm. "The 1ron tire tor
this wheel is deliberately made smaller so
thal it can be shrunk in place 1o be a tight.
fit. If the tire's inside diameter is 3737
mm at 20°C, the temperature to which it
must be heated to fit over wheel ? The
coelNicienl of linear expansion ol the steel
is1.2x 10 3/°C.
(A) 290°C

(C) 310°C

(B) 20°C
(M) 270°C

48, (C) SRR 6l YEY YHR UTs

Al
E= T AT
ﬂ -

Al = 3750 mm - 3737 mm
Al=13mm= 13 x 1076#ex
LESIREIEY
| — TRR @ Ao @y
= 3737 mm = 3737 x 1076w
o — s T ‘_IUTI—CFJ
=12x107°C
31 @it ®1 oY T8 @ @l ag

A 13%10°°
AT= T ~ 12x10° x3737x 10
289,80

=290°C
=(290+20)°C =310°C

49, =1 7 F Fow e R, @ R g

T T FAEE py AN py ¥ T F
HRUT ST Held UR XUl Pl AL
(g/g:) ¥

The radii of two planets are respectively
R, and R; and their densitics arc
respectively prand p;.The ratio of the
acceleration due to gravity (g,/g-) at their
surlace 18 :

(A) DRy B il
RY szf (B) Rzpz
‘C Kp, D) Rip,
L ) R:P] / PP
49, (B) ul% e @ geuHE M g Bioar R
=Gl
_ GM
Rz

AT YEel T8 1 Brean R, 99 vecd
p; &1 9 UE B G

M, = %n R'p

TfE gHY TE B Brar R, 920 g
p, &1 9 T Bl FAHE

4 503
- 3“1"\2 Pz

EE
M, vd M, 95 & seHH §l
T S E,

M=Vxp
G x 2pRp
31 g- — = —
. g
—§T[(JRp
Teel U8 & fely

4 .
g =3 GRp, D)

4 .
&= 3" GR,p, ..(i)
. () 7 (i) | 9 N U,
4,
ganpw

& i TG R,p,

-~ R p

TRy

£ Rip

ard =L
g R, p,

50.

50.

51.

51
52,

52.

Fad ARV [ e 91 5l

The lightest metal in the periodic table is;

(A) 1i (B) Sn

(C) He (DYH

(A) afrgd ARYY H Wl el uig Li
(eTferr) &1 gwa UvHIY] HHiE 3
TeT TR AT 78 | 6 U AR
H1 1 & | ST gereaie A
152251 T B | ST TN S ol
& T AT TF R

8000 R <1 e 3Tt 99 A T SO
go] % B ol B g ¥ 9 g W
SIS B TT%(g: 6.2 mfs?)

A salellhie orbits the earth n a arcle of
radius 8000 km. At that distance trom the
carth, the velocity of the satellite is (g —
6.2 mis2)

{AY 0.90 kin/s

{C) 8.9km/s

B)

frerfarfea & R #9- A91fe o

e~ & g W W 7

Which of the following compounds

undergo inversion in their configuration ?

{A) e/ Methane

(B) 3¥/Hthane

(C) 3T Ammonia

(M udielesegs/Acctaldehyde

(C) W, e @ Ufewe arerar vfva
O B ¥ NI, B W 3
1 G N-UTHII] U U] Teidaid
T TN W S geeR g
BT < & | 00 7 Az gt R
spP-EHRU TR & qAT ] F
e IR B 21 T
sp3 THENT TEH A Th-TPh sé T
BT & | S T A Ve W
& W PreH Y T7 51 Uehel TE &
I B T U Balor o 37e7d] §F
vfedrer wE & UH HET 9 |
BEeieT O 3-RE 9y 9§,
TElE ASE @ U Thid H5w
¥ RE W W &, S aw @ (i
H A T ofel ¥ afd: 19, 20, e 3¢
I ol getdr e e fFetlerfiad
E_

(D) 7.0 kn/s
(D) 0.7 kn/s

prsp ? g
[&3 ~~H

19 94

ILC



2° T

HC CH,

s’ sp°
N
spt|o

CH,

N-T=AT] & 9197 311% 1 i Ffdea
STl T qen e Yl wag @l
] 9 398 SR U% AR &
T, ST NI ¥ e B E | e
19090 3 g1 HOuRA] o Aeg g7
EQRC RIPAREIE R BN 2o R
& T I BT 109°28' W 1070 F
ST &, wefd 30 W § N-ywHy)
E N I IR R I G i S
gufterg g1 & e fAfew f=awh
T @ B S PRI 1070 F T
¥ 108 T 1
Ry, Ry, B3N TR & THF (Res
v N9 S i Ufewe wigg
T BN B ) e fraor = W A
o1 2 e o A B B sl T e
THTaTdT @ W H faEfee T8 T
T bl &, s e U Tiefes
FHEEAT 3T THY S90 uife &%
w9 H e W Hider el
9 YR o A TR wel
I

R, 7

e

s R,
N < R,
Ry

R,
Rs

53, oA ¥ IR B eeieemeE §—

‘Ihe hybridization of oxygen in water:
(A) sp’ B) sp*
() sp (D) sp™!

53. (A) HyO ¥ ST o7 Haxul

Qg = 152 252 2pt
O T | aaeet

[N

1s 25  2px 2py2pz

10 | AGRAWAL =XAMCART

Oy 1 ST apeeen

s

Hepao]

Sigma

Lane pair
electron

electron
H,OH sp> Fe0T 8 & | o7 g9
WA TS SRl B, T =
T Foldg T g @ BN g
A T FY DIOT 109° 7 FB 104.5°
B &I

.()'.

104.35°

11 H

54. S<Tel wdu ¥ avg o 9 g8 BT S B

A convex mirror [omms an enlarge image ol

an object;

(A) T- & oot 1 7 & ferw =y
Forno value ol objecl distance

(B) 7€ Wb wdTg & g Y B 9
E:\?T Bl % Y'When object distance is
less than twice the tocal length.

(C) v WFT T T W
T T2 B € VWhen object distance

is more than twice the focal length

(1) o500 & 99 "4 & e/bor all

valucs of object distance

54, (A) S0 SO A ukiE g A dfofe

=Y & 0, g9 9 T b urE a5

W Biel, ¥TE U9 STHRT g

(i) 9 o eFd U, 99 ufifes
STHI, a5 W Ber qn e
T 2N

(i) o9 o] Hd dUl gd & g™
Y=l 21, <1 il g9 9 By
@ W AR, de g 9%y
¥ BT 9941 &

9 B B F C

uferfers

55.

56.

56.

ftprie # uge e ¥

The compound used 1n relrigeration 1s:

(A) SN itrogen

(B) %4 M1/l iquid ammonia

(C) =3 aMiFar TR S/Liquid anmenimmn
chloride

(T9) &d w4/ iquid Muorine

. (A) IF TEgrad & ST WS &

= B B

e B T ® 99 &R gmree oA
10 @l 40 & vl @ e T R
el ears f @l sle S R
3@ g T % uiiRret @ oy § =5ad
& T ¥ | 7 Wged AR LW A
= T T ¥ TE—

‘I'wo resistance 102 and 4€2 are connected
inthe left and right gaps of'a Wheatstonc's
meter bridges. The balancing length 'f' i3
noted. Now the resistance are interchanged
1m the two gaps. The new balancing length
T." 18 noted. Then:

@ L1 -

. 4
(C)y L-1-6%cm (D)I-L=60cm
(A)
R I [100-Li] Re
A C B

> 1004

Ry Ry — Sl Al & gl

L, — \ger =

AT B HeY B & o

R, I,

R, 100-1,

go B yuyq Id o

(i) Tle A v 18 e whRrg

U 1 QT 40

1

%* (100 -1)
= 100-[=4

= S0= 100

T [=20 D
T @ 5 T,

(i) I Hgeq L X 4 SR a9
Wt & wioNie wAen 95w R 9@

a1
4 L
T T (100-L)
= 400=-4L=L
5L = 400
L =80 i)



57

57.

38,

38.

FHIE ()T (i) 9,
1 _2
T ~ 80
L _1
L 1

T N, O, F &R P e worarser
T TE T B

‘The correct order of clectroncgativity of
the elements N, O, F und P 15 :
(AYIT>N=>P=>0

(B) '>0>P>N

(C) F>0>N>D

(D) N>O>F>D

(C) T¥1 o0 BN gRiwele TR WY
HUTRA 91 &l UGl 99 d @
Fefead O E 1 R emad # IR
AR SR AR T IR <] S IR
I ¥ glg @& Are—e sifde
A T &, TS IR ST
EEICCH R i i e I e E
fagd wocHedr ved)l & | anad
AR A TN (Fa) 9aitas
HOTE T & |
SRR CCRIING CIC I REPRIFRIRE N
T W a B
FT>0>=N>P

25 m/s ¥ GHE SHETE B 9 9 AR
T 35 mis TR ) R e F o 8
7 gfereme 0.010 s F 1T e, 1 wfoem
& I I AT Bl w0 Tl e |

A baseball is moving at 25 m/s. When it ig
struck by a boat moves olTin the opposile
direction at 35 m/s. 1T the impact lasted
0.010 s, find the baseball's acceleration
during the impacl.
(A) 23500 m/s? (B) 6000 m/s>
(C) —3300m/s? (D) 5000 m/s?
(B) I B YRS 97
u =25 T /qFrs
L HE Y AR & I A e
e # SR E
T 3ifeA & v = — 35 Ale/VPrs
od, v—u+al ¥
—35=25+a = 0010
=  ax0010=-33-25
= a »x (0.010 =-60

60

T 0010
=_ 6000 7 /<1 2

- o

59.

59,

60.

ol

TiEE Tl AgeEE g T

SaE —

Nitration of benzoic acid gives tollowing

major product:

(A} o TEEEGES S /o-nitro benzoic
acid

(B) m-TTEgaIg® 3Fal/m-nitro benzoic
acid

(C) p-TEZEWIES aF/p-nitro benzoic
acid

(D) 7 FI/AI of the above

(B) ¥er Al wE selasl sl e
SO;H-COOH, -NO, &1 suftefq
T PR Fw A B e g
e el getegl g, e Ao
Ry e gorag e T A
AT & | 3T ST W
il TifHes <1 anall ud Ty feerfga
TR T BT Hel R 98w 2R
zl

COOH

1L, SO
_HNO, -2 A(W)E

Giges  TTEIeED 3
o (s}

COOH

110
NGO,

ar-+ Sﬁ LR g<b 3l

gl e fie @ 49 /8. 97§ S H
T BT W, A e Sad ue swa
TSt St AR e W A T T
B P g = 10/ /A 2EET

ITwe throw a body upwards with velocity
of 4 m/s, at what height its kinctic
energy reduces Lo hall'ol the imlial value?
Take g = 10 m/s2.

(A) 49e</dm  (B) 2 9EY/2m
() 19T 1m (D) 0.4 A/04m
(D) AT £ 29R 9X furg & Tl ol
WRF 1 AT X8 T 6
EEP

%xﬁmw:mﬁ famg ux
Terfosr St

o
= (Em"’] - mgh

2=

61.

61.

62.

:)le1;><{4)2 - mx10xh

1
4=10h
ho X =04
== =0

TR HHIRROT H SelTelS e e 5—

Nernst equation relates electrode potential
with:

{(A) 99 F/Temperature

{(B) ¥gar W/Concentration

(C) AU S WiEE W/ Temperalure
and concentration

(1Y) T SR SEE ¥ lemperature and
pressure

(C) Tl Soaee @ sogeErs g @
= WFEE] T O YR Y B
| el el | & el selaers
e ¥ giaey e U g
=T far =T &1
Td G geldgrs AT
l\/l“‘(aq) +ne” — M(S)EI“? 51

TR e BF—
{ A M

E(\l\](l/l ) = By —%ln [IE/[”‘((:j]
&l
E(Mm’,m)% feredt <1 TI—EK HI=dl Uy

gelddls @l [9g

EI\I’\I/I — HP Soas f[A49g

R - wAtye fw feeniw
(= 8.31 et bfed!
Ha 1)
s — T¥H d9
5 — soldcls arfifear A
ygad goldgidl &
s
I — BT FEdiE/se
ReIF (96500C)
[M(s)] —» =1 5 g b1 ATl
| MBS, 5 —> Tt | g st &l
=T
m G &1 U fig o wea afmad 1
TE, AT T R 9 N § 1 SHE
T B—
A body of mass m thal 13 undergoing
simple harmonic motion passes through
its equilibrivm position, its velocity is:
{(A) F[uiero
(B) Aferma/maximum
(C) SHE AMETH 99§ STlhall of

its maximum value

U | 11



(13 Suded ¥ 9§ HIE Teimonc of the

above

62. (B) 9=er &9 T H fivs =1 39

ufe |er sned TR dvd gy five
w FIONT 97 o AT o AT
faeem= p 21 4,

u= o=y
T © T8 U1 gl € b e

e MR Fr B 0 @ A
T S Tl 3 & T TG
¥ | o e g g E (v = 0)
¥ ol €, 99 9 S e
Bl

y=0%, 4

T
= W7
Umax -\fﬂ U

LJ nax = L@
e o N 1 G el I
r=a)
u— wjat —a*
u=ow %)
=0

63. ST BggRa ULHIY) I [eferliga srawen

W SR gL 9o T e ¥, 90—

When hvdrogen atom is raised from the
sround state to an excited slale:

(A) PE.9g@ & &lv KK #em &PE.
mereases and KL, decreases

(B) P =l & &R KE 9ga &/PE.
decreases and K E. increases

(C) PL @™ K L. SHi 954 £VBoth PL.

and K E. incrcascs

(D) PE. 3R K.E. ]F1 924 & VBoth PE.

and K_.F. decreascs

63. (A) TSN GRATD] H T s@eeT |

Refers S
PE = —K}‘Ze1
=E I 17 37939 9§ ORIt Srgee

o g, dF 39 Hean #o A
T, TR FO1 IR & HIR0T R
# T HIF g8 U¥ aNdiad et
Full ¥ gleg B0

BEGN TRAT] B amwen A
TR Sl

. _ Kze?
Kk = =5
T TF AT arger 31 Sifore sfawe

H SR, 1 g9 5 2 9=
T, Y i SHu @ "I
T |

12 | AGRAWAL =XAMCART

64, THAT G & PR e TN S

Transition metals form complexes due to
(A) B2 3e/Small size

(B) Ideletl d h&f/Available d orbilal
(C) T At smael/Large ionic charge
(D) T AL the above

64. (D) AT LTS & SR 11T o

AT ST & | SUFEHA D S

ERT GO O e A

SuHEEdeE dife 999 &1 gE9d

T PRI T T

(1) TR SR+ ST 9gd
Bid Bd & T 9= g
ST 799 BT B | 59 TR
fed SR A 9 U a1
ST ¥ FeTaaiT I = S
H TEIT PY FFA E

(2) "wHY o1g gl § Nad
S<T: d-epaeh Sufkerd @ E,
T8t Sl foriIoe 4 seraE -
TH TSN TR & o0 SRE
A B e HpAU B 8IS
STHIY, QUETeE J-BE, IS
SR SITaeT & 0T HebT 91
wfeer MRe s B

65, 1:2:3 o ¥ YRRIe &9 9 9

vRTaE WAMEY @ H ¥ |9 gRRge
T & gl o ¥ U o i—
Three resistors having resistances in the
ratio 1: 2 : 3 arc in parallel. 'The current
through the resistors are in the ratio:

(A) 1:2:3 (B)2:3:1

(C) 3:2:1 (Dr6:3:2

65. (D) THT URRIY WA B W OE | A

TH STCTT— 8T ETT Wl &, 2l
o wfeRre & RET & A e
FAH BT

AH B

=1:

rJ
L=

8d: iy ifyii3— T

—]—
o td|—~
wi]—

=6:3:2

66. TRIATCHST o 9239 9 TF ) TR Sigan

66.

67.

67.

vd gl & fobor g g 1 Ade @l
SR ST ¥ | A SIS 67 e
Hel §F ¥ U <1eTg b el Wil %, o
IR wdigeldgH & afdean Tikd
il & —

Amelal surlace 15 illuminated by a light ol
given itensity and frequency o cause
photoenussion, If the mfensity of
dlumination 1s reduced to ene fourth of’
its original value, then the maximum
kinetic energy ol the emilled photlo-
electrons would becomes

(A) mﬁaﬁﬁluuchmged
(B) 7@ A F 1/16/1/16™ of original
value
(C) el #H & §ﬁ/twice the original
value
(D) o1 WA G ﬂﬁ'ﬂ"fl’f/tbur times the
original value
(A) ToRTE getagl & aftmad T
B!, IO THE @ el O
R T FT R
I TS SRS 9 S aREHE
TE ¥ T WA T HeE Wl g
1 SEfSIT BIST gelaard sifdeH
el oot A EE TR T& B
frfafteg #§ § fras s @
Tafew & 9% & VAmong the following,
the one which has maximum 1onic
character is:
(A) NaCl (B) XC1
(C) LiCl (D) CsCl
(1) Tl ammaer <l safees e Sdd
Tfees Tor 99 fag & 9e7 & 0
P AT W E R W At @
THIE AT & Telge 99 I¥ 74l
B 2
gt A A AR 96 B
T Seraal ATFTHT &
T ) R S X | o ST
TE0T T ¥
S HAATTE AT H HH =T
T
CsCl > KCl>NaCl = 1aCl

68. wve sad Wl & faw B A 9

ATITIH TR E 7



638.

69.

69.

70.

70.

71

‘Which of the following is not essential for

the simple harmonic motion ?

(A) S=cd/Inertia

(B) UAg def/Restoring torce

(C) 1T Area#/Material medium

(1)) AR/ Cravily

() Evel aad i 6 @& 16y e
T AT e B -1 Hifcen
AT I AaTESdl 2T ¥, Uy
THETFNY TR A AT @ T
AITIF T Aol ¥ |

eb gelgel- ol A0e & VThe charge of an

clectron is:

(A) 1.6 x 107C

(B) 1.8 »x107"C

(C) 1.6 = 1071%C

(D) 1.6 = 10717C

(C) TR TAIY] 6T T[T 0 & | T
el 1857 # 91 o, e A & & |
FHS —le° W USG B B TR
goldgid gv 1.6 % 10 1° @ &
FUTHE G el & |

9 vared Sl gudly a9 g1 el wd

T—

The substance which are atiracted by the

magnetic field are:

(A) Dﬁjﬁl’ca?]fr)imnugncﬁc

(B) aTggadr/Paramagnetic

(C) ?ﬁ%@ﬂ’ﬁl’ﬂﬁemmwgnetic

(D) wrgaadia/Ferrimagnetic

(B) 9 TRt e &), TR e
AT W SGAT gerani SatteT
T T STIgEPN TSI FEAN €
HYTAT el 1 HEG fe
AferE B B, w=redl @ sy
IO ¥ ST & ST Ele B
TP USTe grESE AA H
AHOT 21 5 SR T & BT
@ O¥ gl S 0 A @l
W

T ¥ 9IE% w1 Gall YTy P Ch Sl e

F TFS U AT ST T B 87

Outdoors on the winter, why docs a picee

ol'melal [eel colder than prece ol wood ?

(A) RS T G1g ST=91 S qAes o
Metal is a good conductor of heat
than wood

(B) o1 ¥ A6 S H WIS o
Wood 15 a good conduclor of heat
Lthan melal

71.

72,

72

73.

73.

(Cy arg I TFel AUF Tog B
el vl &Wood conduets heat
laster than metal

(D) T &R Uiy S T e
FBoth the metal and wood are bad
conductor of heat

(A)YER W & 15 a1g & gael oo

F] N YA & wefd Abel B
THE H F FECE Bl 5, GIE
W HIRTH S0 B % HROT AR B
THE BT F STH FAAR B B
HROT A S0 & T ¥, T
THE Bl Tl Faleld B @ BRI
H Sl B W T 98 SR B b
HTq <Pl el g IR Al bl Svan
a1 BUeT B B

T H & A1 A e e & 7

Which of'the following statements 13 not

correel

(A) TUAT B B A TR e @
T T R ST W VA

sccondary cell may be recharged atter

use

Frpe FefEm S WafeE e w0
TaTERUT & VA nickel cadmium cell is
an example of primary cell.

o & foTT St del Suged &
A Leclanche cell 15 suitable [or usein
torches.

I & TS B IaT P <
p.d¥e cmt, ¥ 7fdep €97 % When
a cell 15 heing charged ils lerminal
p.d.exceeds the cellem. [

(B) 19 HarE el R S0 e &
e G o o # e
v fihe & TN A W H
Tl W e B o waaE
el 9o fHfeper Hetam ¥ 59
TR % | 3 e () AT & |
e St der feaTos 9 5|
T mofas 9e |

)

(<)

{D}

FaTle 5[ a9 S Ban 51
The most eleclropositive halogen 1s:

(MY F By 1
(C) Br M1
(1)) aTae AR § a1 # %o 9 A" &

S T T o R @ der
%, Fiie gordeid @ B SR
A1 1 ygft el # 1 afer s
Bl el &1 S gAlST @
TRl A& 1 gehR B—

[>Dr>Cl>T
T STETEN WAy g9 figx a@
Rl

74. TF e W 4 T A 9 wRRae

74

75.

75.

76.

SIS B gl ddig 0.25 m A8 B 7
For which of the lollowing pair ol
resistors, the balancing length is not 0.25
min a meter bridge ?

(A) 102, 30
(C) 25¢2, 750

(B) 77362, 702
(1) 22, 30

(D) g 7 Hge e g 7, o
e s A
r__ I
QT aoo-n
/= 025
P 0.25
0~ 100-025
_ 025 25 1
075 75 3
7
P25 1.3
T QT 757377

7T PRl T 25, 1, 73 B
S8 Y Q ®AF 75,3, 7 B
P wg Q& A1 B 9 2 ud 3 e
=

o e s A el E)

Transition metals in their compounds

show :

{(A) S F9/onic bonds

(B) Wewdras g8/Covalent bonds

(C) =f@Ee d9/Metallic bonds

(I 3Mai® 9 SUFEEE=E 99/lenic
and co-ordinatc bonds

(D) J-<T01% Tl T HHATT e hedd & |
TS FATS B B GG TR
TR (1 — 1)d 10 nsl=2 BT %
HHAUT GIgY SIS A1 WeRe ATfihT
= FEio w ¥ wfew/ W/
SuEgdel Hfiw 7 st g
GG ESE o e il G il i
I

TH Tnl™ Uhd @ (019 B TIkid @

v W %

The first law of thermodvnamic for an
adiabatic process 15

(A) dU=dwW

(B) dU=0

(Cy dU=—dW

(D) du=- dH+2dW

U | 13



76.

7.

7.

78.

78.

74

14

(C) Tt forepe #9127 aret fa
yepd & SRIF S 9 o1 98T |
e & g o |9 i A &
e & STEY o1 Wb | 99 W

TS TEH P Gl
BT & HeW faH 9
AU=0Q-W
= dU = dQ - dw
T WA W 7T (dQ = O)
= dU = O —dwW
K'GE dU =-dW

et WU F || §E TRl B T BV

Thell group clements in the periodic table

is known as:

(A) arTmel a‘@f’/Alkali metals

(B) aamers o] aTge/Alkaline earth
mctals

(C) <ieFsE/Lanthanides

D HepHU[ ﬂ]’g’iﬂ" Tansition metals

() et A=y & a7 MA ¥ e 72T
SIS <l TG T & | ST AR
ezl E?ITI'T;:T'%'GE A 2 B B3
TaRI 37 aTa T oy e E,
i ﬁ"’ﬂﬁ £
Be,. Mg, Cay. Srqg Bag,, Rag,
T W Rag, ((Fam) eamefeea &

U @ P THHAR ] SoHel] wegd
A qEE B E

‘The wavelength 1 the bright line cnuission
spectrum of an element are:

[A) 3918 g it fASa/Characteristics
of the parlicular element

(By |4 91 & felu Ues W0/ The same
lor all the elemenls

(C) 7T TWFeA W WHHE W9 A
frafya/Fvenly distribuled
throughout the visible spectrum

(1)) THS STER VeE STgeiNy waeH |
aviged ¥ steri/difforent from the
wavelengths in its dark-line
absotplion spectrum

(A) Ueb ded & dHBIN Yl Scdul
Teew ¥ el faEm T @l
fagraand yeffa e &1

e 1§ - Aera & w7

PrEHER A8 & 7

Which of the following will not give a
carbocation asan intermediate ?

(A) SoEa FrifIme gage/thyl mag-

nesiwm halide

| AGRAWAL ZXAMCART

79.

80.

80.

81.

81.

82.

(B) Erer gmrg=/Methyl bromide

(C) g¥rTel/Ethanol

(D) ST 99/ All of the above

(A) T, T TS FEbeRE
&1 &, el faqge deligs 2
SR FTTTRH RIES e
TE ST &, Afew HEAEA ST §1

p % fapesii & ferg fgael eamves wem

ELEERS

‘The Azimuthal quantum numbcr tor p and

forhitals arc respectively:

(A) 0 3F 2/0 and 2

(B) 1873/ Land3

(Cy 182/ 1 and 2

(D) 2 3% 3/2and 3

(R) farigh aamen w1 | golag &
SURET T S SR & TIRRT
Yl & I SEH AT 0F (n - 1)TF
BT T
s, p, Jd T (TR & o8 13 A
HHEl (0, 1, 2497 36|

T e T @ Aa sl )

'The cell reaction of a secondary battery is:

(A) IpAITI/Reversible

B ﬂﬂF;FHUﬂTI/TITeversible

(C) Her/Equilibrium

(D)) SeTaemi/Endothermic

(A) % A FFH ST R & 9T
famra faem # faz@ am & ws
R I SRE &% 5 1 7 |
AT W1 Aol &, Tgdige del
FEae ® | fadmE 99 § |99
aififrar aeprviia E-i F1
S —eTE WA e 9 B PhO,
FT T2 TS ofs (Ph) & &A1 &
B gud H,80, @7 faes g
SYEEY H B B |
Pb(s) + PbO,(s) + 211,80, —
2PbS804(s) + 2HH,O ¥9te &
i Sepatiia &1

1
HqEy
AR K, Fafe @ femeierer g9 &

o, oo, Frae o

1

The dimension of - where pg
u(l 1

represents vacuum permeability and E,,
represents vacuum permittivity.

(A) LT (By L?12

(Cy 1212 (M LT

82. (B) & WMl & 7 e, -

1
C‘.‘
TEl Y% C-HehTe 1 O |

2 l
= NI
1
e,
1
C el famr - N &% fomr
e C &7 9 = 99 &6 fasw
_ AR _ o
=3 =Ll
o 1
i Lt - e @R
ST 3N 91 @ v,
(L1 = ugleu &l feAr
L¥—2— uuleg o

. | — 2 2
o = o = L3

83. TF FEF AMS § A8erad Bl gaT

T H TG O E

The metal used to detect nitrogen in an
organic comnpound is:

(A) Li B)K

(C) Na (D) Cs

83. (C) wrdfas Fiffrsl &= arafas

HHEME AT § g9em & fow
WSTH °R & W == AW T
et &, forae uRo s Egs
NaCN #H, Heth¥ Na,$ 3 91 geiloi
NaX & gaef o |

e X = CL Braan 1) Ter & 98
e FBsor bl U § QeSS
T B e § Na & A9 w9
A g 9N € SR A e v A
g w7 W T §

TH UEN W HIEYT & ael @
ST Taerar I afeas Frsey @
T O ey @ wEfe diffee
W Sufem i ol SRI—N, S
Foflo (CL, Br, [) &f& &) vzam
we @l AR o adieer seer
Bl

84. I m aﬁ?mngﬁaﬁw—srl dir

ro 131001 @ gty el § el @ oY e



X . ¥
G I e e iR e Al el | "2 El
It'two satellites of masses m, and m, arc
revolving around a earth in a circular orbits
of radius r; and 1, then the ration of their

v
. .
orbital velocities b I8

)

@)\ @) 5,
?'1 .
(S . ).
84. (A) TG el BT TeOHH M, T SHIE
Ealie e W i p R e o e o
IGMe
Yoo T
29 W[ & [F 9Uus & gAE
HHE T T YR T R B
I USel TUVE BT BEE o
G
"y = A r
TN SUYE P b G
GMe
V2= 7
GMe
i i 3
sid v, T [GMe ~ \7
#
Y, L
it v, \r

b

85. fferiag o 9 for A ES, ST
Hirwd SN el 99 By 67

Which of the following contain ionic, co-
ordinale and covalent bonds 7

(A) NaCN {13) NaCl
(C) NaNC (D) Na(QI1
85. (C) Ry (A4,
NaCN ¥,

Nfi(/;\(l) N —> sz—[(:“k,E\CX]
GESEISEE]
g 98

fTwem (B,

NaClH,

Ni + Cl: —» Nu'-CI
(3T Fe)

fa@ea (O,
NaNC ¥,

Ni - N JCc—>Na' N=C]T
(ST, Hedra s
Tl SHHTHATIE 99)
et (D)9,
NaCQH H,

g PP _
N | Q) #ll —3 Na' - [0—1I]
(s wa
HEHdT)
86. 1000 TRRIT B ToaMey @ w19 TR
R T A0 99 H ST ¥ 9% diecAie] 9
e P19 ¥ | deciieR @ A g
Bl @ B R & Hig 10000 & ufady
it ¥ SrgT S & | R A (Q )
When a resistance R connected in senes
with a galvanometer of resistance 100 £2
1l acts as a volimeler. To douhle the range
ot the voltineter, a resistance of 100082 1s
10 be connected in serics with K. 'Then the
value of R is (in C2:
(AY 1000 (1) 1100
(C)y 8OO (1) 900
#6. (12) 100 Q) gk & feamiey |
TRAE R 0 40 %9 7 Sied 1=,
. v :
ONTI - 7o+ R (1)
SlecHAley ol A gl @3 @ o1y
R & 197 100 O & uladg S s6r
H SIS oY vafsd |wr

, 2V __ 2V
ET 0001004 R)  TT00+R
(i)
HHIERRT (1) 9 (i) 4,
% AY

100+ R) — (1T00+R)

= 200+ 2R =1100 + R
R =(1100-200)
=900 Q2

87. T g2 T GEEAH W IR A T E
AR B g g @ A & R
&5 | TR S @ [T e & At
T <P T BT | G2 Y I T T
M 112 kny/s &g |
Il earth has a mass nine times and radius
wice thal of the planel mars, calculale
the maximum velocily required by a
rocket to escape trom the gravitatienal

field of'mars. Take escape velocity on the
earth's surface to be [ 1.2 ku/s

{AY 3279 knvs (D) 23,75 ks
{(Cy 9144 kavs (D) 3.865 kan/s
87. (A) AT YAl Sl geAHH Me 2 e

Re 1
SfSfes HTET T B GHEH M, T
o R, B
EEP
EERIGIES
M!E: 9 MI[l
RG: 2Rm

TR B U 4 = 11.2 T/
HE HIET UE &1 YR 97

= v, R
12 GM, )
GER v, - .\F B (1)
2GM B
GRS Vi = R (1)

AT (i) H (1) ¥ AT B O,
V. [2GM, \j R

1] (3

v, "\ R, 2GM,

- 1.414;11_2 .
= 5.279 it /4.
88, J =eile ad 2
‘The d hlock clements arc
{A) | GIg@/AT metals
0y [ STEI'gf’/AH non-meltals
(C) oIg¥ SR &regd/Metals and non-
metals
(D) ST/ Metalloids
88. (A) Y T R SIRE SeIgE d-had
H W 9N B, FHA O AT d-Als
T e ol J=lp T qw@l @
T3 129 I T 129
T H Zn, Cd T Hg T FHAT T
TE AT W ¥, FiE 5T d-
T qof R B ¥ | 457 & A
T gy B

U | 15



89,

89.

oh.

.

NH,

KECIR]

91.

16

d-seATe Tea] T 4 AN H 5= e
T
@) 3d-H0l (Scy - 7ngy)
(i) Ad- Sl (Y, - Cd )
(iii) 5d- 207 (Lag; — Ilgg,)
(i) 6d- SO (Acgy — Uubypy)
dedlel <l & AIUBE ol
wAtE e (n - 1)d10
02 T ¥
Tl 9 dged OUAE @ fey s
SHMTeY TS fmn ST ' 7
Which thermometer 1s preferred for
rupidly changing temperature ?
{A) g 7 ga/Liquid in glass
(B 1 2dqiiie/Gas thermometer
(CY giedy gHifie/Resistance thermo-

meter

(D) 9T (arigelfer) eHiHe
Thermoeleciric thermometer

(D) a5 & s5ad 999+ & fery
TAO-fIe@ 2MMeT @ ybm fa
T

ST BRI ) BE ) ) el i

afHEEar =0 B

Reaction of aniline with excess of

bromine water gives:

[A) 2T M/2- Bromoaniline

(B) 3T /3-Bromoaniline

(C) 2, 4-=H-aHETF/2 4-
bromoamihine

(D) 2, 4, 6-CI—AHNETE/2,4-6-
Tribromoaniline

(D) VT & FIfF FHE o &
wrer srfifgar e oY 2,4, 6
GER I RVECInEe i

NH,
Br Lr
—_— +3HBr
Br

2, 4, 6-gRAANRIA

TR T BT STIMT gds &7 e far

SIEES |

The alternating current cannot be used for:

{A) Y @ @ fee/Heating

(B) Wehre @& fT0/Lighting

(C) FifHe & S &4 & ey
generate mecharacal energy

(T gelaeiel(c & fal/electroplating

+ 3Br?
ELLIR!
el

| AGRAWAL ZXAMCART

Y1. (D) YRR 9T & 5% =T 5 ger

# aiftyen geawrdl aRuma & wad #1
e UIER Gy Al 98 9§ %
M W A7 & e g1 @ ger
# afyre dig Heo a@wdr B
FoldolIier, SE[d SluHe Jgd—
I G S H Fae e gR
Gl e el o e

T TorgeTe e & fore Tt &
B ST TE R W7 e ¥

92, TeEEe S H U UY B 9ot fhfdar

T

In the voltaic ccll, the reaction occur at
anodeis:

(A) U/ Oadalion
(B) sv=/Reduction
(C) e /Elimination
(D FarT/Addition

92, (A) F3H Fer T Sl w=T 9 Sl

®, S de0d Yol oEd & dieed
et = el S T e Tt
el & | s Hel & €1 gerders] Bl
7T O & TR BN 9 W 1%
soldole TV Siidiaeo fear &y
TEY TeiTES T SqaEe T 2
EEEIERRERIEIR ACE R
B & | e e 5 =1 seedrs |l
e DA = T Seleers UT
T =Tl TR st afiforamd
FEAMI & | T oes T AT
BT BT Heie hed & | Heirs e
Il 1 G gd B | gfe gR ga
TR R gF 9 solagi o & | e
b o golereis R afferdlebRur el
¥, W VRS e 2 | VTS e @
FOT g B g

93, T fAFE ¢ @R & WY 7 B AR ST

¥ vh g fore A g g fiwar
T 3" R fATe ¥ Re e B
die o ue Rex wg enedt @, wheEn
femm

The I1l1 15 moving down with an
acceleration «. A man in the lift drops a
ball inside the lift. The acceleration of ball
as observed by the man in the lift and a
man standing stationary en the ground are
respeciively:

(A) g.2 (B) g-a,p-a
C) gug (D) 4,8

Y3. (C)gear w7 Rerd =afaw & war 5 =1

@ - gN// Toe ¥ Rerd =afaa &
AT 31F F @ = (g - a)

94

94

N
h

95.

96.

96

. Ueh el b HHGIE H i ¥
The diflerence n 1s0lopes ol an elements
I5:
(A) FEH W&/ Mass number
(B) URH] HEAYAtomic number
(C) gorag @ we=T/Number of elections
(D) WM &1 I/ Nuinber of protons
. (A) T TE e AN FAE TR
TN ST e - 2R
&, e sead &, | il g
et =g 1 v -t
R
i 10 o e i I M bl s
010, OV Gap (OB E|
. Frferfisd F & wrda @ darers w ¥

Among the following, the conducting form

ot carbon 1s:

(A} BRU/Diamond

(B) 9R@®Ie/Charcoal

(C) TIge/Graphile

(D) Faa F49I/All the above

(C) IBIsE i1 FET B PE fredd
UGy &, $HE Al o Y W
SHTS AN |EA B | T,
IRPIE PN UE LG W & | Dl
& suwdl @ Wifre vd Ieale
Tl Sy S wREArel § Agd
for=rand &1 SRMUe dgd HoR R
AT &, SEf UEEe T &N
forega et T

Freferfies A & S—1 waiier swi

77

Which of the following is most acidic ?

(&) fo=ra/Phenol

(B) &f57a sieaelal/Benzy] alcohol

(C) HEFaETae/Cyelohexancl

(1)) sm-FERIEATE/ m-chlorophenol

. (D) yse geiergid sl fiwerll Hyg

(NO,=CI %) fUslel Bl sfeetd I
EECRE

Ol

¥ Cl |99 ¥ad
Cl

gelagla SNl e §iE & &1

SEP el B gl &1 sl

AP AT m-FARIEAIA B |



97.

v1.

u8.

98.

99,

99,

ptype Sigdrae dar &

A p-lype ol semiconduclor 1s

(A) FRERE/ uncharged

(B) SFTHE ST/ + vely charged
(C) FUTHF AREM/-vely charged

(D) Fael 0°C T8 FRERE/ uncharged
only al 0°C

(A) pUEH & sgareidl | [OEa @
e Tew (hole) T HRU BAT B
Ty S drerd: (STHFTH) A i
ouEeg (gt SReE) e
TR VY Sgdierd U 8 & 59
3R ATEF (WEX) TS o ©
Hd: SYged YRHU] U gTHIY]
WI? %I Sﬁ:p—miﬁ &W
FEfE @9 )

Frfaiad | 9 S Sy SegiflE

TS TR # sk B afifdordi

£?

Which onc ot the following molecule 18

less reactive towards electrophillic

aromalic substilulion ?

(A) TFEI/Aniline

(B) ciegs/Tolvene

(C) AdEdH/MNitrobenzene

(D) f=Tel/Phenol

(C) NO,—CI W78 geidal™ SlbH TiE
&1 —CH, tfemar wig goiag
AR 7 51 —NO, (TRe T7E)
A Ugel gelag SMENl U
THE (1 WHTE) BRI g H
SolTer B 1 2 & Y gery
1 FfeHiT Her €1 o/ e
HHE I | YROTD q49TE R geieel
ST SIS WA (=R 9H1E) 0
S9F T W gelged g9d Ten
2|
rd: AEeIg s g ainfer®
wifes gfreemyd &) @Y @9
arfirfeparelar ¥

e a8 H 919 T e i @ AR
(V1) ¥ (V) 0 Boal &, @a fomar 7o
P BT Bl
Work done by an ideal gas when it
expends [rom volume (V) to (Vo) under
conslant pressure 1s:
(A) V) VP (B) PV, V>
(C) PiVa—Vy) (D) (V] + Vo)l
(C) foFm T d W = PAYV

DV =(V,-V,)

104,

100.

101.

101.

102.

102.

& 9 B W = PV, - V)
W=P(V,-V))
eI WRIe A1 b 4l i & oy
Al 8 megler W e facaer & wy
¥ 39 TR0 F [SUEN B |

In Wheatstone bridpe method of finding
unknown resistance or inductlance, the
instrument used as null detector 1s:

(A) SFTET/Ammeter

(13) AeeH e/ Volumeler

{C) FeemieR/Calvanometer
(D) T T/AL of these

(C) TeamER @ TR A= iR A
IRFE T T B T Flewe B
T A I SEEeR & w9 § W
feraT =TT |

g9 @ Ffeifige o= A @ fwam

FIUATE FAEF 52

Among the following derivatives of

ethane, the one having the highest boiling

pomt 1s:

(A] C:H5F (B) C:Hg,Cl
{C) C.H<Br (D) C-Hsl
(D) A Yfeha A el YUehal Seliee

& T & Tl gl T ae
%, RI>RDBr> RCI 98 R—Wfeamat
WHE B, Al Bl & s ae
TEM A gy W Y el ged
HHIUT deT b ufRAmT A gedr &
AT CyHslk, C4H5CL CyHgHr,
C Hy — 1 b1 &rq2ieier oA T
B
CoHsl > CyH BT > CyHCl >
C,HsF

yeAnaE] 1 Wit e § 9 ferdes g

Ay ?

‘Ihe combination of atoms take place duc

o

(A) Sull 3 ghg g1 Rerar g @
H/Acquire stability by increase in
energy

(D) Soll 7 F BN R g ey
F/Acquire stability by decrease in
energy

{C) <7 oo feEfe W e W/ Acquire
high cnergy state

{1y sTfErvs] gTee FT W/ Acquire
instability

(B) 58 = wAe & 99 Ty
e el ol weed & o9 2w

103.

Tfger # HaE SHoil 4 SR B
S q WA Fee ) E Gl ST
a0 STPYUT Se el WiaEsu ge
T FR & | Al T qell & GRomE
TR § Ua- & Sl § B o
T == 9= ST & | §9 i 9
Soll # gfg & o @y o g
31T 31 TRAS & S A, St
H T e fera v T & fore
EGIE

TH " I BE S a1 R 3 100°C S
110°C T9H 9% A% el 41 & | 99
T T T FGE B S 4.0 Is TR AT
¥ 19 S| BE B 5 R @ 200°C &)
210°C T I TG 2T SIS HH
TATE F ST B

The two ends ol amelal tod are manlamed
at temperature 100°C and 110°C. The rate
ofheat flowin therod is found to be 4.0 J/
5. I the wo ends ol a melal rod are
maintained at temperature 200°C and
210°C, the rate ot heat tlow will be:

(A) 8.0 Ts (B) 4.0 Us
(C) 4.0 Ufs () 16.0 /s

103. (B) YoM BS © R & AL M=,

AT = (110 =100y = 10°C

2l

di
ENISERH

fada we & B & Awe Qe

Aly=(210-200)=10°C

e & e T g S gars

E GG ERIT SRR RC T I NN =]

T8 aFl uffeftal § a1

Z1

e = 10°C

T g9 Rerfoi | e waE 9

Erdhin & e

B3 9 T T4’ A I 4

A0
3T ST YdlE P 8¢ — = 4

di
GElkiELE

104, U9 RIS frefy & et e

=1 TN g B H1

Chlorination of benzene under

photochemical condition lakes place by:

(A) Ylderdiibire wkrsm/Nucleophilic

substitution

(B} Ted0bas Uiaeend=/Electrophilic

substitution

YN | 17



(C) qFd Hfewe gome/Free radicla

mcchanism
(D) WTEIFerR Aeaai/Carbecalion
intermediate
104, (C) qF & THE (hv) H SRR H
oI b TR W AT Hm
TN S SFdeelNIgs i< 8l

¥ 78 wififea Ted e Wl

oy araRa %
Cl
Cl Cl
+3Cls __hv 5
Al Cl Cl
Eavin)
Cl
vt
IR S

05, T e =g & 9 @ 99
idad o7 4 SwElR 99 4 T TR
ST % R f W B O < #
T BH qrel T BI—

A string of certain length used to whirl a

slone in a vertical circle wilth cerlain

velocily. The tension developed n the

string will be:

(A) gaiiues WE/Same along the circle

(B) 99 ¥ H a1/ lighest al the
lop of the ¢ircle

(C) g @ 9 7 =g=e/Least at the top
of the circle

(D) g9 & aa (a1eA) 7 aiftrema/Ilighest
at the bottormn of the circle

105, (C) 9519 95 gy g9l 9% HU¥ 6l

3R IR &, ARG, = v HET Al
& Ten Bt favens 0 95 ¥

AT W S L= ¥+mgcose

o AN T W T Tedl W
el Fzadd e (B = 180%) uv
SIATH BT S E | 3 g9 B U
T, I A S B aren a9
A B B

weaH fdmg & ¥ uv, dAe

(0 =180

nn?

| = -

+ mgcos 18076

'I'=T)27mg
106. 92 TOHM T¥ FFfed e & T
S ) A e A L Tl B ) e

H g wWens 5|

18 | AGRAWAL =XAMCART

The autocalalyst Tormed in the reaclion
of acidified potassium permaganate with
oxalie acid al high lemperature

(A) MnS0y (B) MnQ,

{C) MnSO; (D) Mn,04

106. (A) ©F TF XIS SR § a6
i IR I L | 2 e
forg SRE B B BT & O 99
W-3GP (Autocatalyst) Pl &I
KMnQ, de1 e fers arve
C,O, L1, BT ST A grery] #
et KMnO,, 5T Sifaiferss amel
I SRR el A B R g
HHY UTER Sl & i =
A AT MnSO, SOR® & w9 #
R} T & TT AR & 9
gl =l &l
5C,0H, + 2KMnQ, +3H,80, —>
eI T 2MnSO, + K,
50, + 10 CO, + 81L,O

107. TF WORE 76 5

An autocatalyst is:

(A) W1 STE frar = T TaE B
¥ VOmne which speeds up the catalyst
aclion

(B) fdfmn & Som€l & W TF SR
@ AT B F BOne of the
products of a rcaction acts as a
catalyst

(C) ANPRE I UF IORE B Wi
R FAT F ¥One of the reactants
act as catalyst

(D) =T @i IANE B At we
e € VBoth the reactants act as a
catalyst

(B) WE f&<il Yty srfirfean o
e & e’ H 9 U 9ueE
G HE BRI B, o I ESGND
HET & 991 3¢ TR BT H-SAR
P T
Ve % W@ AfTEed § CH,COOH
- Bl N Bl B
CH,COC,H; + H,0 —

T CH;COOH + C,H,OH
wEfed s UiE TodiEd
(FT-SIRF)

108. 31 ¥ TR BT U ANSaH o
TREfd @ e 2

On continuous exposure o air, sodium
tinally changes to:

107.

(A) NaCl3 (B) NayCO; ¥
(C) Na,OH (D) Nay T
108. (B) @y den =44 & ufer fpaidierar &
PRI AN GIGST BT HFT a7 Tal
T S B T wad e s
gEgiddT [Aams Sd—fied @
el X ST %, o g arg e
T WE W R < sl
T ey g T B § R
Y H e e W A 97 g
ke 162 e e B | B s B e e
X HeETes, FReadEs AN e
A HEiIC B Uep gL ol B ST
¥, fors g S nfead
TAF WIH g oA & |
AT H 97 F TR TS TR,
AT BT H ST PEMS | greaf
B =
ANa + 0y —  2Nay0
ifegs Afeem sievTge
Na,0 + H,O — 2NaOH
(ga1 @ Ty wifemw
EARE{LRIRE]
INaOH + CO, — Na, COy + H,O
(arg 9) (difsa# wieiie)
109. =T Hfers ardrafharel ¥ ey TN
T
The weakest of the four fundamental
interactions is the
{A) W?T/Gravimtiunul
B) ﬁgﬁ—ﬂﬁ?ﬁlﬂ/elech’o-magneﬁc
(C) ereRd/Strong
(D) R Weak
109. (A) TR SEIUS ¥ g1 F1< 991 I B
& S feegae &
1. fae@ geam 9a
2. THETEIT A1 [EE g
3. wog AR Tl
4. FAAN AR T
THH | @ I G FHSAN T
&, TR SR AR R FE0S 7 S
o1 fier & foaesd oRo A m
I TN BRI S | AR T Sga
& e gl WP aRd B gd
P B BT N B %
AT IR Bl 8 | HAgH NS
e T AR FAA A TR AT
BRI




110, fr=ferfaa 7 9 o Hem &

110.

111.

111.

112.

112.

Impossible orbitals among the following
18:

{A) 2s (B) 2p
(C) 3/ (D) 4d
(C) T anfdiee & fow [ wd nal 99
HAT B X T W T, T
[EHAM OF (2 — 1) T & 5|
25 B U3 FHEHE
p=2,1=0@E"T)
2p e B o
r=2.1=0,1 &)
3/ B o) = Mo SR 1
T A TE 2 T €
n=3,1=73(3/Ya)
A (et & fer)
n=4,1=0,1,2,3 (%)
I 3T ST T
% P, Q, R ¥R S Foweq e & 9
TSl & URRIY S ¥, © grewer et
AR CES H s e CL s U IR
ITF, Q, R and 8 represents resistance ol'4
arms of the Wheatstone's bridge, then the
sensitivity of Wheatstone's bridge will be
maximum when:
(A) P=Q=R>S B)P=Q=R=8
(C) P>Q>R>83 (D P>Q<R<8
(B) BIEFeH forst 1 HeamTgiera s’
& oY (R @l &) 99 99
T 9 Uk T 8 @i & &),
FATP=Q=R=8)
TS arfife arer I & e
v g afem ¥ |

lodoform rcaction is a confirmatory test

for compounds having:

{A) —COH; (B) —CH,CO

(C) —CONH, () —COOH

(B) W w4 Mesams IR FEF oE
CIL,CO M7E Jufters = 2,
ISR ST <o & 5T Yediea
FTFATERT BT T CLL,CO FYE
o UfeaEs A S TR E, 9 oA
smaistwrE  afafear €9 2
WHCSEES FAEHE fHl T2
ESIR Y
R M, vy & arar +18
o wer T

113.

113.

114.

114.

Fasd 9 Uferdr T HE werHiae gfed
SIS

Heat transfers by the process of
conveclion oceurs:

(A) Fael sdl AOnly in liquids

(B) el oM AOnly in solids

(C) el wa] AT [ FO0uly in liguids
and gases

(D) <rel, wat @Y 4 #W/in solids,
liquids and gases

(C) sl < T H BT BT RO e
W@ BT BT &1 59 WA H TaEre
®l T @& u¥ sul @ gula:
TTIAROT & 47 T o, e aeT
g e B

ot gedt o i g o e g0

174 21, U a9 Bl amfy B |

IT the earth 15 1/4 ol ils present distance

from the sun, then the duration of the vear

would be:

(A)y 12499 (B) 1/4 a4
)y 18T (D) 16T
(C) IR & T Tem |
12
1= i

SE I = TE T A

= T=K(»¥* Nilr= 7% ¥
9 3l g3 | Al aEl @ snadidre
IFREITE I U A el
Wy YA py B

LA
Lo\

ﬂ 4
4
TL r_ (4 a2
s T, |2 | 7)

= (4)3/2

T 32
ok
= 2= R

s T T 1 ey & 7 2

115, T YA Ted 7 SR oy

The mean life of a radicactive substance

is:

{A) Taeed f=aaie & 9uaw/liqual to
disintegration constant

(B e s @ =@/ Reciprocal
ol dismlegration constant

(C) fawea fomie & wed g

Directly proportional to disintegra-

tion constant

(D) Foreres foraame @1 quet/Mulliple of

disintegration constant

5. (B) fre AT oftee wamel 9 @fed

1Y faoe ReRri & sgorargurel
2 E 3 ¥ weli| F B

1
ST SN ST o0 P

1

Toc —

116. <olgd ATF SNRRA VA0 Begss

¥ arfufear o 3 |

Benzoie acid on reacting with lithium
aluminivm hydride gives

{A) §9T/Benzene

(B) gl TemEia/Benzy] alcohol
(C) <iegsi/Toluene

(D) o 9 PI¥ T8/None of the above

116. (B) LiAlH, (efiferas degAifras

BI39IgS) UfesEgs @i,
e SR Tl ST @
T Ueeplale] H TR HY el & |

COOIL CHOH

_—
Srsilgd 3l EREIEL|
L AR

117. I it 9 Suferd Fomg vared &

The cathodic material present i dry cell
is:

(A) MgO,
{C) MnQ,

(B) MgO
(1) Zn

117, (C) PeF A A0 U 8 | U T

o1 Taep—ahla g[S el |1 gsh
gifsives anfa 3 feban o | Hat 3
o # foie &1 U TS @ BR
a fore urs <t &8 Iwige 6
©g DS Bl B B B | TS Yh

YN | 19



W I W ISP 6 ool & | §EH
UFRST & B8 & g X 94
Hriie srgaaaEs (MnO,) #1
TR BN & 1 Befifed Hewer @
FUMY 9aref < FE XAl 81 e
U N1, CL+ ZnCl, =1 719 f450T,
faea smEey & e e & 5w
T A1 U ¥lel & & & A a9
T ¥ W @B 99 e T &
W § eiar & 8 Hel @l A&
=T B ¥ dwEe & B v
Bl 8 efifa 2 |

118. fvferiiaa 7 & S=—w weig e
P forgee T 7
Which one ol the following will release
ammonia on hydrelysis ?

(A) TEgEI/Nitrobenzene
(B} THeEES/Acctanilide
(C) TS S/ Benzamide
(1) e s=iue/’henyl benzoate
118. (C) I=MTES T Wolg ITged &M T¢
AT TEE BT B

CONH, COOH

1Y, fermd wag o v A o, 3F
F T T | WA B
A converging lens ol local length s placed
i1 contact with a diverging lens of focal
length 37 The combination is:
(A) 32 PIHe AT BT AR TRUA
diverging lens ot tocal length 3472
2f Gldhel widls P SHEN ofd/A
converging lens of tocal length 21
3/ Ihel TEIe B TN /A
diverging lens of focal length 3/
312 RS TS W AT TE/A
converging lens of tocal length 3172
119. (D) Tt =1 T AR <9 Pl S
2, wiefd srdde ow (concave lens)
P ATER T T P oI 2 | A
f& s ofd &1 wied g3 £,
eI STOET % B E g9, B
9 £, ud fy b A Rl i e
U¥ (S & HE § T 1Y)

(")

()

8]

20 | AGRAWAL =XAMCART

i1, 1 _ 1 1
L e PO R /1
( f
= k= f fl (1)
Ale f; < f, dl b1 HIH e |
aTe1f] g oy ST o7 (S
) B W @dER B |
ERSIGGIES
h=1 HL=3f
S fy < fy AR S S f,F A
TEEE () H T 1)
_ S 30 3 ar
3f-f 7 2 2
_ ¥
I'=-3

MY i (Fael o) =T
120. ArTEE S & e Feioiead ®

F P G FaIET B?

Which of the following is an example for

addition reaction®?

(A) HIEd Foe AfarEa/Friedel Cralls
reaction

(B) Vesia srfHfgmn/Aldol reaction

(C) ThHATe &1 SPTIEo/Bromination

ol phenol

(D) F9F #1 ATgE ¥/ Nitration of

benzene

120. (B) Wiso ®Te S¥fEm =i =
e, feare & aM=Ieeor 3H
fafcrar sereefhfae gfesara
AT e ¥ |
sl i A1 Vewe Wee — 9
ifesags o #ieE 99 «
BISSior U] STk Bl ¥, O
&1 91 7] &7 <A1 STl # Hee
BN B-EESiad Ulesegs I p-
TESIFY] STH o4 & | T8 arfifear
Veelal AffEar a1 tesiar HeAA
TFEAT & | VeSie H VeI 9
EZCIRETRCIE I R D R
P FR I A D1 B 3] el
AT & T o, SRS e
A ur B B

0
Il
EH, - ¢ -1 - mécpo 3 NaoH |
oIl
I A
CH, -G - CH, - CHO — >
H

CH-CH CHO
FICHCEES
121. @ = S < ARl Sl @ aE s

The energy that heats the sun has its origin

in:

(A) Taferoreliedi/radioactivity

(B) YAy [Rge/ Nuclear fission

(C) wgeo § Hferm™ & SwEithe
preduction ol helium [rom hydregen

(D) EeTA ¥ S g B Seda/ the
production of hvdrogen from helium

() w1 < W & & sfp s AE
R HYed g9 A TS IR
¥, 91 75 s Tien weee
FEeTRT B F SR ol
| e weae st § 5
T W B T S| HeT ahisansi
A AT S S B TR
Tl ¥ 1 A S T ¥
2 H2 > HP+ HT 40 MeV

(i)
T TR T SRR (HY g
Ueb <RI Y- | Helld Bla) e
Siferam Y T B 8
1H3+ 1H2—> 2H4+ On1+ 17.6 MeV
(&oil)

Frfefisg 1 4 a8 T afica 28

B

Ameng the fellowing one which docs not

existis:

(A) NT's (B) Sbl's

(C) PF; (D) AsF;

(A) Suffrd Aggior &\l P A
-8 TTE BT S | eI Arggror
A dfg erqul wae e B B e
qE U FUTSHAl =2 g9l |
HEY A8 NF @l o 48 &
Hepell & |

Heed® & Siad e & SHEN adl &

“iferep 7 vt fasieard S=e @1 s

e ¥l

According lo Mendeleev's peniodic law,
the physical and chemical propertics of
elements are periodic tunction of their :

121.

122.

122

123.



123.

124,

(A) TR AT Atomic number

(B) 9vHIY] |/ Atomic weights

(C) Toe B =/ Number of electrons

(D) e @ T=AY Number of protons

(R) FSAIE b ST 19 & STER el
& Wi Ten YEEE o 9
wafE = Hoe % W @ 9"
gz o fawe & R E

T Al RAHH GeT T Wels IR Geg AN
60 ke &, 98 JeaT o foredr o QI A
P SR UL AR § AR & | SHPH
T T

A woman whose mass 15 60 kg on the
eurth surlace 15 1m an spacecrall al an
altitude of two times the carth radius.
ITer mass Lthere 13:

(A) 6.7kg/6.7 B (B) 15 ke/15 T
(C) 20 kg0 (D) 60 ke/60 famm

124. (D) &\ 9 & {5 gedl 1 Was % v

S UY e 1 WX "gedl & 7 &
A TP S @ Y 9 uY
i 91 A Hea & o afomesEy
HX Mg & 44 T gedr &, wdfs
SHF A 9 FTE R 8 BT
| A Higen & e § o9
FEMM 60 fF 2|

125. 90° & fe wEde ¥ &1 dlad aed

B BT S9H W TS Pl e 2
HEHUE €, T I H ATI FA -

Two pendulums ascillate with a constant

phase difterence of 90°. It time period ot

one of them is 2 sec., then period of the
other 1s:

{A) 2HETE/2 sce. (B) 4 9FUS/4 see.
(C) 1950E/ 1 see. (1)) 6 HFTS/6 sce.

125, {A) I=e EeTd H AT

M

1, - 2;m i—
1 Vg

)

—
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